IB HL 5.8 Critical Path Analysis
[bookmark: _GoBack]Esperanto felt that a product of such importance needed a suitable campaign to target a number of other niche market segments. A marketing agency, New World, was used to help plan and coordinate the marketing and product launch for 1 January 2011. Esperanto’s chief executive officer (CEO) agreed the following sequence of activities with New World’s marketing team:

	Activity
	Estimated Duration (weeks)

	A
	2

	B (Must follow A)
	2

	C (Must follow B)
	5

	D (Must follow B)
	7

	E (Must follow C)
	4

	F (Must follow D)
	3

	G (Must follow E and F)
	3

	H (Must follow G)
	2

	I (Must follow H)
	5



If early sales of UniTran were disappointing, New World was keen to make a quick adjustment to the marketing mix. Given the initial feedback on the UniTran, New World’s perception was that the product required a very short channel of distribution. Esperanto felt the opposite. It was confident that the UniTran had the potential to become a global product and would require much longer channels.

Questions
(c) (i) On the lined paper provided for your answer, construct a fully labelled network diagram to represent the sequence of activities in the table. Show the earliest starting time (EST) and the latest finishing time (LFT) for each activity and the critical path. (8 Marks)
(ii) Calculate the total float on the network diagram and comment on its implications for New World (show all your working). (3 Marks)
(iii) Briefly outline one benefit to New World from constructing the network diagram. (2 Marks)
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(i)

On the lined paper provided for your answer, construct a fully labelled
network to represent the activites in the table. Show the earliest starting
time (EST) and the latest finishing time (LFT) for each activity and the
critical path.

Calculate the total float and the free float for each activity. Comment on
the likely effect on the other activities and the total duration of the
‘project if

 Activity C is delayed by four months

 Activity His delayed by four months
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[6marks]
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Solid Construction

Solid Construction is a new partnership between an experienced project manager and an accountant
‘Both are keen to venture into the property development market. They intend to build a new hotel to
cater for the increasing demand of commercial businesses in the area. They also expect to profit from
the high refurn in the run up o a major global sports event. Currently. the partners do not have enough
finance for the project and are looking for some possible sources.

Tt is very important that the hotel is ready for use within three years. Most of the information
gathered by the developers regarding various aspects of the external environment is based on
‘government publications. The partners are o ambitious to carry out their first project that they
‘have ignored some potential problems, such as skilled labour shortages and the possibility of traffic
‘congestion when the materials are transferred to the building ste.

‘The partners of Solid Construction have identified the various activites required in the planning and.
‘building process. These are shown in the table below:
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On the lined paper provided for your answer, construct 3 completed
network disgram fo the building project usng the information provided
nthe igure shove. Show the exhetart time (EST) and stest i tme
(LFT) for each activity and dentify the criial path.

Calcultesny changesto he durtion of the projact and o the critcal path
i Susie Chn reduces the fime faken fo complete actvties B and F 25
she planned.
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